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21.In the Keynesian model of aggregate expenditure, real GDP is determined by the (A)

price level (B)level of aggregate demand (C)level of aggregate supply (D)level of taxes
(E) level of export.

22.The Keynesian model of aggregate expenditure describes the economy in (A)the short
run (B) the long run (C)both the short run and the long run (D)only a strong expansion
(E) Both answers A and D are correct.

23.At potential GDP, (A)there is no unemployment but there is not necessarily full
employment (B)there is no unemployment and there is full employment (C)
unemployment is at its natural rate (D)there is cyclical unemployment (E)None of the
above is correct.

24.1f the economy is at potential GDP and the Fed increases the quantity of money, then (A)
potential GDP rises (B)real GDP rises temporarily above potential GDP (C)real GDP
rises permanently above potential GDP (D)potential GDP and real GDP both decrease
(E)None of the above is correct.

25.Which of the following leads to the buyers paying all of a tax? (A)The supply is
perfectly elastic (B)The supply is perfectly inelastic (C)The demand is unit elastic (D)
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The demand is perfectly inelastic (E)None of the above is correct.

26. Among the factors that create a deadweight loss and inefficiency are (A)minimum
wages, but not taxes (B)rent ceilings, but not taxes (C)rent ceilings, but not minimum
wages (D)minimum wages, rent ceilings, and taxes (E)None of the above is correct.

27. Patents create monopolies by restricting (A)demand (B)prices (C)entry (D)profit (E)
marketing.

28. Game theory is applicable to oligopoly behavior because oligopolists (A)use strategic
behavior (B)ignore rival firms (C)are price takers (D)can only be profitable if they
collude (E)None of the above is correct.

29. Fill in the blanks with the correct answer. IS curve shows all combinations of r and Y
that equate expenditure with expenditure on goods & services. (A)
planned ; actual (B) the average; equilibrium (C) planned; equilibrium (D)equilibrium ;
actual (E) Both answers B and C are correct.

30. Fill in the blanks with the correct answer. When the U.S. dollar depreciates against the
New Taiwan dollar, the New Taiwan dollar becomes expensive and the U.S.
exchange rate _ (A)more ; rises (B)less ; rises (C)more ; falls (D)less ; falls
(E) Both answers A and C are correct.
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